	  28 +  37  =
	 4 . 2 =

	236 +   9   =
	 7 . 2 =

	526 +  60  =
	 9 . 2 =

	685 + 200 =
	 1 . 2 =

	700+ 30+2=
	 8 . 2 =

	  52  - 18   =
	 6 . 3 =

	900  -200  =
	 2 . 3 =

	740  -  10  =
	 1 . 3 =

	856  -200  =
	 8 . 3 =

	368  -     5 =
	 9 . 3 =


PL- MAT -   Opakovanie príkladov na sčítanie, odčítanie a násobenie. 	
3.B
	  48 +   19 =
	 5 . 2 =

	258 +     7 =
	 2 . 2 =

	325 +   60 =
	 6 . 2 =

	436 + 200 =
	 0 . 2 =

	600+50+4 =
	10 . 2 =

	  42  -   17 =
	 5 . 3 =

	900  - 400 =
	 7 . 3 =

	980  -   10 =
	 0 . 3 =

	963  - 200 =
	 4 . 3 =

	467  -     5 =
	 3 . 3 =


	
			
	  36 + 37   =
	 4 . 4 =

	366 +   9   =
	 7 . 4 =

	726 + 30   =
	 9 . 4 =

	586 +200  =
	 1 . 4 =

	400 +40+2=
	 8 . 4 =

	   82 – 17  =
	 6 . 4 =

	900 -  300 =
	 2 . 4 =

	640  -   10 =
	 1 . 4 =

	866  - 500 =
	 8 . 4 =

	468  -     7  =
	 9 . 4 =
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